

Southgate Cricket Club 2016 Season Review



4th in Premier Division and three sides promoted. A statistical summary of the remarkably successful 2016 season at Southgate Cricket Club.



Southgate 2nd XI vs Harrow St Mary's, 20th August 2016
Back row (l-r): Bob Cole (umpire), Scott Ellis, Alvin Durgacharan, Adeel Saeed, Waqas Khan,
Declan O'Leary, Ravi Desai; Front row (l-r) Max Joseph, Shoaib Zulfiqar, Sam Faruqi, Luke Hutton,
Dave Woffinden.



4th XI v Harrow Town, 3rd September 2016

Back row: Marcello De Crescenzo, Harrison Folland, Roy Marett, Middle: Shiv-Raj Sharma, Sal Syed, Doug Gordon, Ankit Patel, Partha Dave, Shaffick Babwah, Kunjal Haria, Christian McLoughlin; Front: Delmore Walters.

SOUTHGATE CRICKET CLUB 2016 REVIEW



TABLE OF CONTENTS

Topic	Page				
Table of Contents	3				
Results Table	4				
The 2016 Season - Introduction	5				
SCC Obituaries	6				
2016 Awards	7				
Batting Averages	8				
Bowling Averages	10				
End of Season Awards	11				
Highlights of 2016: Batting totals	12				
Centuries	12				
Large partnerships	13				
Bowling: five wickets or more	13				
Economical analyses	13				
Fielding and miscellaneous statistical items	14				
1st XI League Table & 2 nd XI League Table	15				
1 st XI League Averages	16				
2 nd XI League Averages	17				
3 rd XI League Table & 4 th XI League Table	18				
3 rd XI League Averages	19				
4 th XI League Averages	20				
Southgate Colts	21				
Tribute to Allan Wyatt					
SCC career records – Batting					
– Bowling	28				



Southgate Cricket Club 2016

Results

Category	Fixtures	Won	Tied	Drawn	Lost	Aband	Canc'd
1st XI Middlesex League	18	9	0	0	8	1	0
1 st XI Cup matches	2	0	0	0	2	0	0
2 nd XI Middlesex League	18	15	0	0	2	1	0
3 rd XI 1987 League	18	11	0	3	3	1	0
4 th XI 1987 League	18	8	0	6	3	1	0
1st XI Friendly	8	2	0	1	2	0	3
2 nd XI Friendly	3	2	0	0	0	0	1
3 rd XI Friendly	1	1	0	0	0	0	0
U21 Development XI	6	1	0	0	4	0	1
Jim Conroy Cup	3	1	0	0	1	0	1
Totals	95	50	0	10	25	4	6







THE 2016 SEASON

Even more so than last year, the 2016 season edition of the Southgate CC Annual Review is, through circumstances, largely a purely statistical report of the completed season. With the absence of reports and difficulty in purloining scorebook details, the publication has also taken a long time to bring together. This is a particular shame because, across the club as a whole, the 2016 season could possibly rate as the most successful summer on record. The 1st XI finished a highly creditable 4th in the Premier Division of the Middlesex County Cricket League. The 2nd XI won the Division 3 title to be promoted for 2017, the 3rd XI won the 1987 League Division One title to regain entry to Division 3 of the County League, and the 4th XI came second in their 1987 League Division to gain promotion to Division 4 for 2017.

Retiring President Peter Jouning is to be congratulated on being the recipient of the Heartbeat of the Club Award for dedication to club cricket at an OSCAs ceremony at Lord's.

Our thanks go once again to our long-time sponsor and active supporter David Gakhar, managing director of Underpin & Makegood, whose continued generosity has helped maintain the club's financial standing and enabled us to meet the expenses of an ever-demanding world.

Ricky Gunn



The year ended with the Christmas social football match between the Under 30s and over 30s which the Over 30s won 4-1.

SCC Obituaries

2016 was an exceptionally sad year for the club when we lost several notable members, both former players and loyal supporters

We are sorry to report the deaths of three vice-presidents, Sandy White, Stephen Parkin and Brian Hatley.

Sandy White (88) died in March after a long illness. He had been a hockey club member who became an honorary member of the cricket club in 1976. He provided generous financial support to the club in a number of ways and was a regular supporter of the 1st XI in particular, both at home and away matches.

Stephen Parkin died aged 74 in August, also after a long illness. He had been elected a member in 1960 but, along with brother Andrew, had spent his childhood putting the scoreboard numbers up and becoming a scorer. He played his last game in 1983 but was always involved at the club in any form of building or maintenance project. He is notably remembered for building the scorebox and erecting the sightscreens. Stephen represented the 2nd XI where he was an explosive (in every sense of the word) left-handed batsman and the most enthusiastic fielder imaginable: his clothes would always be covered in green (or worse) by the end of the opposition's innings.

News was received that vice-president and former club captain Brian Hatley died on 25th October 2016 aged 84. He had moved from Cuffley to the Dorking area many years ago but had not maintained contact with the club since then. A contemporary of Colin Cowdrey at Tonbridge School, he was an attractive left-hand bat and captained Southgate from 1968 to 1970. He scored six centuries for the 1st XI with a highest score of 116 against the Forty Club in 1961.

* * * * *

Former player Allan Wyatt died aged 77 in November. Allan was a regular member of the outstanding Southgate team which won the Middlesex County League in 1976 and 1977 and the National Knock-Out Cup in 1977. He was primarily an accurate medium-paced seamer, his best return being 8-32 at Finchley in 1974, but was also a useful bat and fine close catcher. Allan was also a talented footballer, only narrowly missing what would have been a unique achievement of playing at both Lord's and Wembley in national amateur sporting cup finals. [Please see Mike Smethers' tribute on pp 22-23.]

Honorary member Ron Carr, father of Adrian, and regular supporter at the ground for many years, died suddenly in February. Always a popular conversationalist, he provided thoughtful company as a spectator at club matches.

Graham Titley died in April following a long illness. Graham and his wife Janet were honorary members and regular supporters of the club on match days. Graham, a very knowledgeable sportsman, had also provided valuable support in colts training in recent years.

All these members will be very much missed and the club sends its condolences to all the families concerned.



End of Season Awards 2016

Hawker Trophy: Haydan Morton

Chris Stevenson Batting Trophy: Tom Edrich

Derek Honnor Bowling Trophy: Ben Elders

Colin Done Young Cricketer of the Year Trophy: Ben Elders

Martin Fletcher Clubman of the Year Trophy: Sam Faruqi

Geoff Slipper Spirit of Cricket Trophy: Ollie Bellwood

Steve Rowe "Dunkirk" Trophy: Liam Babwah

Mike Dunn Lifetime Achievement Cap: Doug Gordon



Piano Award: Marcello De Crescenzo



Sam Faruqi celebrates the 2nd XI's promotion at the Middlesex County League Dinner



BATTING AVERAGES 2016

2										
50	Matches	Innings	N/Os	Runs		Average	100s	50s	Ct	St
					* = not o	ut				
D. A. Woffinden	14	7	5	179	48*	89.50	_	_	3	_
A. Saeed	12	12	5	507	77*	72.42	_	4	7	_
W. J. Dean	8	4	2	133	56	66.50	_	1	3	_
P. S. Dave	12	11	1	452	93	45.20	_	4	7	2
S. Zulfigar	20	19	3	695	113	43.43	1	5	6	_
W. M. Khan	20	20	4	632	102*	39.50	1	4	2	_
H. N. Folland	15	14	3	421	107*	38.27	1	2	3	_
H. J. Morton	28	28	0	997	141	35.60	2	3	11	_
M. O. Stevens	17	17	1	525	113*	32.81	1	3	4	_
T. W. Edrich	26	26	1	811	83	32.44	_	7	16	_
J. D. Dangerfield	19	12	4	257	67	32.12	_	2	9	_
A. S. Sahota	22	22	0	653	113	29.68	1	3	12	_
R. A. Marett	16	8	1	148	50*	29.60	-	1	3	_
J. McCormick	9	9	2	190	77	27.14	_	1	4	_
S. Hafeji	16	12	3	241	73	26.77	_	1	-	-
L. Babwah	17	15	3	317	125*	26.41	1	-	5	-
M. P. G. Joseph	17	13	0	341	101	26.23	1		1	-
1		13						1 2	3	-
C. Telang	12		1	260	55	26.00	-	3	<i>5</i>	-
A. J. Lynch	22	21	1	492	66 55	24.60	-	_		-
D. Gordon	13	9	0	196	55	21.77	-	1	1	-
J. N. Dangerfield	14	11	4	149	41*	21.28	-	-	6	-
D. J. O'Leary	15	15	3	255	51*	21.25	-	2	6	-
D. Pyzer-Knapp	18	12	3	186	42	20.66	-	-	11	-
A. K. Durgacharan	16	15	0	307	78	20.46	-	1	7	-
R. Desai	22	9	6	60	11*	20.00	-	-	2	-
P. M. Dunnett	20	19	5	279	66	19.92	-	2	17	4
R. A. Mullahzada	16	15	3	237	54*	19.75	-	1	10	-
M. R. Hughes	15	15	2	254	42	19.53	-	-	5	-
S-R. Sharma	21	19	2	331	87	19.47	-	1	9	-
R. A. Johnson	15	14	1	243	51	18.69	-	1	7	-
R. Smith	8	6	1	91	49	18.20	-	-	1	-
Ankit Patel	18	16	3	230	53	17.69	-	1	7	-
M. D. Carter	8	7	4	52	19	17.33	-	-	3	-
S. Faruqi	20	10	2	136	40*	17.00	-	-	4	-
P. J. McLoughlin	6	6	1	85	29	17.00	-	-	2	-
G. P. Clark	5	4	1	51	27	17.00	-	-	-	-
M. De Crescenzo	19	14	1	211	48	16.23	-	-	4	-
S. R. Ellis	14	12	4	129	45	16.12	-	-	10	6
A. J. Carr	19	7	3	61	28	15.25	-	_	4	_
A. P. Sivarajah	19	17	7	150	34*	15.00	_	_	2	_
C. T. Steel	11	11	0	161	41	14.63	_	_	2	_
Fawad Mullahzada	9	8	3	72	27*	14.40	_	_	3	_
L. T. Hutton	19	15	2	183	45	14.07	_	_	5	_
	-/		-	100		2			٠	

Continued

	Matches	Innings	N/Os	Kuns	Highest	Average	100s	50s	Ct	St
					* = not o	out				
F. A. Mir	22	20	3	232	35*	13.65	-	-	6	-
H. Thompson	12	8	2	79	25	13.16	-	-	-	-
B. D. Elders	15	5	3	25	18*	12.50	-	-	5	-
C. J. McLoughlin	16	14	1	161	49	12.38	-	-	10	2
O. Bellwood	18	12	1	135	30	12.27	-	-	10	2
S. Syed	18	16	0	182	38	11.37	-	-	6	-
Farhad Mullahzada	12	8	3	49	21*	9.80	-	-	1	-
S. M. Babwah	14	8	2	54	28*	9.00	-	-	1	-
T. Clark	7	7	1	45	14	7.50	-	-	3	-
A. Quiyum	8	6	1	34	19	6.80	-	-	6	-
R. D. Gunn	8	6	0	29	26	4.83	-	-	2	2
M. R. Bhatt	19	9	5	18	11	4.50	-	-	7	-
S. R. Larner	10	8	0	31	8	3.87	-	-	4	-
A. Babwah	13	7	4	10	4	3.33	-	-	4	-
M. Barrett	7	4	1	4	3	1.33	-	-	2	-

Matches Innings N/Os Dung Highest Average 100s 50s Ct

Also played (under 5 innings)

Five matches: R. Kent dnb, dnb, 1*, 14*, 2* (2 ct); D. T. Lowen 14, 0, 15, 5, 3. **Four matches:** K. C. Haria 6*, 0, 8*, dnb (1 ct); J. B. Jouning 54, 110*, 5* dnb (2 ct); A. Khan 1, dnb, 7*, dnb (2 ct); J. A. Thomson 10, dnb, 2, 0.

Three matches: O. S. Ali 4, 21*, 15* (1 ct); R. Bishop-Laggett 57, 37, 12; P. Martin dnb, dnb, 12 (1 ct); T. Stanton 37, 23, 0; D. K. Walters dnb, 0*, dnb.

Two matches: D. Dhanki 1, dnb; G. Duke 0*, 7*; A. Jhanji 11, 16; A. Madhavan 0, 0* (1 ct); J. F. Stone 1*, 0; H. Vipani 0, 1; S. Wadham 0, 2 (1 ct); F. Wilson 49, dnb (2 ct).

One match: Firooz Ahmed dnb; G. N. Blackmore dnb; I. R. Blanchard dnb; M. Dias 1; W. Dias 22; A. N. Dixit 3; J. Fryers 38*; A. A. Jain 3; E. Harvey 8; Z. Meyer 2; N. Neilsburg 22; B. Oduwole dnb (1ct); S. Parmer dnb; S. Rae 58; P. J. Robinson 25.

92 players took part; 15,551 runs were scored (including 1,536 extras); 335 catches were taken and 18 stumpings. 20 catches were unidentified in the scorebooks this year.



Southgate contingent at the Middlesex County Cricket League Dinner, 21st October 2016

BOWLING AVERAGES 2016

ECB	Overs	Mdns	Runs	Wkts	Average	Best	5wkts		Economy vkt Runs/over
C. Telang	109.0	34	275	28	9.82	6-20	1	23.35	2.52
B. D. Elders	150.5	37	360	33	10.90	5-17	1	27.42	2.38
R. Kent	76.0	14	224	19	11.78	8-39	1	24.00	2.94
A. Quiyum	60.5	10	196	15	13.06	3-17	-	24.33	3.21
D. K. Walters	22.0	3	100	7	14.28	6-31	1	18.85	4.54
W. M. Khan	26.0	3	92	6	15.33	2-24	-	26.00	3.53
A. J. Carr	211.4	25	701	45	15.57	5-24	3	28.22	3.31
R. Mullahzada	127.2	19	393	24	16.37	4-25	-	31.83	3.08
H. Thompson	90.0	15	262	16	16.37	3-16	-	33.75	2.91
R. A. Marett	134.0	28	337	20	16.85	6-27	1	40.20	2.51
D. A. Woffinden	141.0	37	421	24	17.54	5-80	1	35.25	2.98
M. R. Bhatt	191.0	38	659	36	18.30	5-58	1	31.83	3.45
S. Zulfiqar	78.4	7	331	18	18.38	5-56	1	26.22	4.20
Farhad Mullahzada	49.1	6	224	12	18.66	2-11	-	24.58	4.55
S. Faruqi	96.2	5	449	24	18.70	3-9	-	24.08	4.66
A. P. Sivarajah	140.4	18	567	28	20.25	7-37	1	30.14	4.03
R. Desai	181.0	26	702	34	20.64	4-15	-	31.94	3.87
H. N. Folland	84.4	9	313	15	20.86	3-10	_	33.86	3.69
S. M. Babwah	113.2	12	388	18	21.55	5-59	1	37.77	3.42
M. De Crescenzo	103.5	12	416	19	21.89	4-26	-	32.78	4.00
S. Hafeji	127.1	9	528	23	22.95	7-66	1	33.17	4.15
L. T. Hutton	102.5	7	474	20	23.70	4-44	-	30.85	4.60
H. J. Morton	191.0	27	759	31	24.48	3-28	-	36.96	3.97
Fawad Mullahzada	51.0	5	221	9	24.55	4-39	_	34.00	4.33
J. N. Dangerfield	73.4	9	303	12	25.25	2-4	_	36.83	4.06
A. Babwah	74.3	6	341	12	28.41	3-38	_	37.25	4.57
E. Harvey	21.0	0	114	4	28.50	1-71	_	21.50	5.42
F. A. Mir	87.0	8	434	15	28.93	3-18	_	34.80	4.98
M. Barrett	23.0	0	117	4	29.25	2-15	_	34.50	5.08
G. Duke	20.1	3	97	3	32.33	2-55	_	40.33	4.77
L. Babwah	105.4	14	407	12	33.91	3-9	_	52.83	3.85
M. D. Carter	62.0	9	293	8	36.62	3-76	_	46.50	4.72
T. Clark	50.0	4	270	6	45.00	1-19		50.00	5.40
R. A. Johnson	33.0	0	242	4	60.50	1-18		49.50	7.33
Ankit Patel	34.0	4	137	0	-	0-13		-	4.02
Also bowled (10-20	overs)								
	Overs	Mdns	Runs	Wkts	Average	Best	5wkts	S/Rate	Economy
A. Madhavan	15.0	5	37	4	9.25	3-14		22.50	2.46
P. Martin	19.5	1	70	5	14.00	4-46		23.00	3.52
O. Ali	17.0	1	62	4	15.50	4-22		25.50	3.64
S. Wadham	13.0	1	62	4	15.50	3-37		19.50	4.76
D. Gordon	13.1	0	69	3	23.00	1-0	_	26.33	5.24
J. A. Thomson	17.0	4	58	2	29.00	2-9	_	51.00	3.41
	17.0	•	20	_		_ /		21.00	J

10

Continued

M. O. Stevens	17.0	0	112	3	37.33	2-54	-	34.00	6.58
A. J. Lynch	11.0	1	74	1	74.00	1-31	-	66.00	6.72
J. D. Dangerfield	16.0	0	81	1	81.00	1-37	-	96.00	5.06
P. M. Dunnett	10.0	0	38	0	_	0-16	_	_	3.80

Also bowled (under 10 overs)

F. Ahmed 5.0-2-10-0; O. Bellwood 5.0-0-37-1; I. R. Blanchard 5.0-2-16-1; P. S. Dave 1.0-0-10-0; W. J. Dean 1.0-0-13-0; D. Dhanki 2.0-0-25-0; M. Dias 7.0-4-6-0; W. Dias 3.0-0-9-0; A. K. Durgacharan 3.0-0-18-1; T. W. Edrich 4.0-0-29-3; J. Fryers 9.0-0-62-2; J. McCormick 5.0-0-40-0; C. J. McLoughlin 5.0-0-31-0; Z. Meyer 3.0-0-26-0; N. Neilsburg 5.0-1-13-0; D. J. O'Leary 1.2-0-10-1; A. Sahota 4.0-0-29-0; S-R. Sharma 2.0-0-12-0; T. Stanton 7.0-0-52-1; S. Syed 1.0-0-7-0.



Ali Lynch and Dan Pyzer-Knapp display the 3rd XI League Trophy



Round the table at the 1987 League Dinner 16 September 2016: Ricky Gunn, Roy Marett, Shaffick Babwah, Sal Syed, Partha Dave, Ali Lynch, Dan Pyzer-Knapp and Doug Gordon

Features of 2016

(NB: ML = Middlesex County League; NCKO= National Knockout)

BATTING

Large	Totals
-------	---------------

320 for 5	1 st XI v Hertford I (Hertgate Trophy) (a)
319 for 6	2 nd XI v Winchmore Hill II (h)
307 for 6	1 st XI v Cockfosters I (h)
301 for 9	2 nd XI v Ickenham II (ML) (h)
285	3 rd XI v North London III (1987 League) (a)
275 for 8	1 st XI v Twickenham I (ML) (a)
273 for 5	1 st XI v Shepherds Bush I (ML) (h)
264 for 6	4 th XI v Bessborough IV (1987 League) (a)
263 for 4	1 st XI v Eastcote I (ML) (a)
258	3 rd XI v Bessborough III (1987 League) (h)
332 for 5	Harrow Town III v 3 rd XI (1987 League) (a)
	Hampstead V v 4 th XI (1987 League) (h)
	Bessborough IV v 4 th XI (1987 League) (a)
	319 for 6 307 for 6 301 for 9 285 275 for 8 273 for 5 264 for 6 263 for 4 258 332 for 5 263 for 6

Lowest All-Out Totals (for)

56 1st XI v North Middlesex I (ML) (a)

Lowest Totals (against)

42	Perivale Phoenicians III v 3 rd XI (1987 League) (a)
61	Harrow St Mary's II v 2 nd XI (ML) (h)
74	Eastcote I v 1 st XI (ML) (a)
74	Actonians III v 3 rd XI (1987 League) (a)
83	Harrow St Mary's II v 2 nd XI (ML) (a)
92	Harrow II v 2 nd XI (ML) (h)
93	Bessborough II v 2 nd XI (ML) (a)
97	Brondesbury III v 3 rd XI (h)
97	Winchmore Hill III v 3 rd XI (1987 League) (h)

Centuries (10)

L. Babwah	125*	4 th XI v Bessborough IV (1987 League) (a)
H. N. Folland	107*	3 rd XI v Bessborough III (1987 League) (a)
M. P. Joseph	101	2 nd XI v Kenton II (ML) (a)
J. B. Jouning	110*	3 rd XI v Bessborough III (1987 League) (h)
W. M. Khan	102*	2 nd XI v Harrow II (ML) (a)
H. J. Morton	141	1 st XI v Hertford I (Hertgate Trophy) (a)
H. J. Morton	102	1 st XI v Teddington I (ML) (a)
A. S. Sahota	113	1 st XI v Shepherds Bush I (ML) (h)
M. O. Stevens	113*	1 st XI v Eastcote I (ML) (a)
S. Zulfiqar	113	3 rd XI v Twickenham IV (1987 League) (a)

Notable Partnerships (* = not out/unbroken partnership)

- 2nd wkt 138 (S. Zulfiqar 113, J. B. Jouning 54) 3rd XI v Teddington III (1987 League) (a)
- 3rd wkt 114 (T. W. Edrich 83, A. Sahota 65) 1st XI v Stanmore I (ML) (h)
- 4th wkt 177 (S-R. Sharma 87, H. N. Folland 107*) 3rd XI v Bessborough III (1987 League) (a)
- 6th wkt 105 (M. P. Joseph 101, D. A. Woffinden 47) 2nd XI v Kenton II (ML) (a)
- 6th wkt 64 (H. J. Morton 74, R. Mullahzada 29) 1st XI v Twickenham I (ML) (a)
- 7^{th} wkt 169* (L. Babwah 125*, R. A. Marett 50*) 4^{th} XI v Bessborough IV (1987 Lge) (a) *** CLUB RECORD FOR 7^{TH} WICKET ***
- 7th wkt 94* (W. M. Khan 102*, S. Faruqi 40*) 2nd XI v Harrow II (ML) (a)
- 8th wkt 45 D. A. Woffinden 34*, O. Bellwood 20*) 2nd v Winchmore Hill II (ML) (h)
- 9th wkt 36* (D. A. Woffinden 48*, S. Faruqi 16*) 2nd XI v Harrow II (ML) (h)

BOWLING

Five or more wickets in an innings (14):

R. Kent	8-39	4 th XI v Bessborough IV (1987 League) (h)
A. P. Sivarajah	7-37	1 st XI v Ealing I (ML) (a)
S. Hafeji	7-66	4 th XI v Wembley IV (1987 League) (h)
C. Telang	6-20	2 nd XI v Harrow St Mary's II (ML) (h)
R. A. Marett	6-27	4 th XI v Harrow Town IV (1987 League) (h)
D. K. Walters	6-31	4 th XI v North London V (1987 League) (a)
B. D. Elders	5-17	2 nd XI v Harrow II (ML) (h)
A. J. Carr	5-24	3 rd XI v Perivale Phoenicians III (1987 League) (h)
A. J. Carr	5-26	3 rd XI v North London III (1987 League) (h)
S. Zulfiqar	5-56	3 rd XI v Twickenham IV (1987 League) (a)
M. R. Bhatt	5-58	1 st XI v Shepherds Bush I (ML) (h)
S. Babwah	5-59	4 th XI v Chiswick IV (1987 League) (a)
A. J. Carr	5-61	3 rd XI v Bessborough III (1987 League) (a)
D. A. Woffinden	5-80	2 nd XI v Wycombe House II (ML) (a)

Economical bowling analyses:

C. Telang	21.0-10-20-6	2 nd XI v Harrow St Mary's II (ML) (h)
C. Telang	8.2-4-8-4	2 nd XI v Harrow II (ML) (h)
R. Kent	16.0-4-17-3	4 th XI v Brentham IV (1987 League) (a)
B. D. Elders	13.0-8-15-2	2 nd XI v Harrow St Mary's II (ML) (h)
R. Desai	13.0-3-17-1	2 nd XI v Ickenham II (ML) (a)
B. D. Elders	9.0-3-11-0	2 nd XI v MTSSC II (ML) (a)
R. A. Marett	9.0-2-12-0	4 th XI v Harrow St Mary's IV (1987 League) (a)
D. A. Woffinden	8.0-4-12-1	1 st XI v Shepherds Bush I (ML) (h)
H. Thompson	14.0-3-24-2	4 th XI v Brentham IV (1987 League) (h)
A. J. Carr	16.0-4-24-5	3 rd XI v Perivale Phoenicians III (1987 League) (h)
H. J. Morton	18.0-5-31-3	1 st XI v Stanmore I (ML) (a)
A. J. Carr	16.0-5-29-3	3 rd XI v Indian Gymkhana III (1987 League) (h)
B. D. Elders	11.0-3-17-5	2 nd XI v Harrow II (ML) (h)
R. A. Marett	11.0-6-18-3	4 th XI v Alexandra Park IV (1987 League) (a)
R. Desai	9.0-2-15-4	2 nd XI v Harrow St Mary's II (ML) (a)
R. A. Marett	15.0-5-21-4	3 rd XI v Twickenham IV (1987 League) (h)
B. D. Elders	13.0-2-23-2	2 nd XI v Ickenham II (ML) (a)
R. A. Marett	15.0-4-27-6	4 th XI v Harrow Town IV (1987 League) (h)

FIELDING

Dismissals during an innings

In the field: 3 catches T. W. Edrich, 1st XI v Stanmore I (ML) (a) T. W. Edrich, 1st XI v Twickenham I (ML) (h) 3 catches H. J. Morton, 1st XI v Shepherds Bush I (ML) (h) 3 catches R. A. Mullahzada, 1st XI v Hampstead I (ML) (a) 3 catches A. S. Sahota, 1st XI v Eastcote I (ML) (h) 3 catches D. J. O'Leary, 2nd XI v Wycombe House II (ML) (a) 3 catches B. D. Elders, 2nd XI v Kenton II (ML) (a) 3 catches J. D. Dangerfield, 3rd v Indian Gymkhana III (ML) (h) 3 catches A. Quiyum, 3rd XI v Twickenham IV (ML) (a) 3 catches P. M. Dunnett, 1st XI v Shepherds Bush I (ML) (a) Wicketkeepers: 4 catches

C. McLoughlin, 4th XI v Wembley IV (1987 League) (h)

Miscellaneous

High-scoring Extras:

4 catches

51 conceded by Chiswick IV v 4th XI (1987 League) (a) 45 conceded by Bessborough IV v 4th XI (1987 League) (a) 38 conceded by Ickenham II v 2nd XI (ML) (h) 37 conceded by Brentham IV v 4th XI (1987 League) (h) 36 conceded by 4th XI v Bessborough IV (1987 League) (a) 34 conceded by Bessborough III v 3rd XI (1987 League) (h) 34 conceded by Wycombe House II v 2nd XI (ML) (h)

Biggest victories:

3rd XI v Actonians III (1987 League) (a) Won by 10 wickets 3rd XI v Harrow Town III (1987 League) (h) Won by 8 wickets Won by 189 runs 1st XI v Eastcote I (ML) (a) 3rd XI v Perivale Phoenicians III (1987 League) (a) Won by 148 runs 2nd XI v Ickenham II (ML) (h) Won by 107 runs 4th XI v Bessborough IV (1987 League) (h)

Won by 100 runs

Heaviest defeats:

Lost by 10 wickets 4th XI v Harrow Town IV (1987 League) (a) 1st XI v North Middlesex I (ML) (a) Lost by 148 runs Lost by 105 runs 1st XI v North Middlesex I (ML) (h)

Personal landmarks achieved for Southgate CC in 2016

5,000 runs – Michael Stevens and Tom Edrich 4,000 runs – Faisal Mir 2,000 runs – Shiv-Raj Sharma 200 wickets – Roy Marett 100 wickets - Doug Gordon 200 catches – Alvin Durgacharan

Full figures in Career Records on pages 24 to 30.

MIDDLESEX COUNTY CRICKET LEAGUE 2016

 $1^{st} XI$

ECB Middlesex Premier League																		
			50/	′50 I	Matc	hes				T	ime	d Ma	tche	s				
	Games	Won	Tied		Lost		NR	W	'on	Tied		Dra	wn		Lost	NR	Pen	Total
	Pld	10pt	5pt	2pt	1pt	0pt	1pt	12pt	10pt	5pt	5pt	4pt	2pt	1pt	0pt	1pt	Pts	Pts
Teddington	18	8	0	1	0	0	0	1	3	0	1	1	0	0	1	2	2	<i>133</i>
North Middlesex	18	5	0	2	1	1	0	0	6	0	0	0	1	0	2	0	0	<i>117</i>
Richmond	18	7	0	0	1	1	0	1	2	0	0	2	0	0	3	1	0	112
Southgate	18	3	0	2	1	3	0	1	5	0	0	0	0	0	2	1	0	98
Ealing	18	6	0	1	1	1	0	1	1	0	0	3	0	0	4	0	0	<i>97</i>
Hampstead	18	4	0	0	1	3	1	0	3	0	1	0	2	2	1	0	0	<i>83</i>
Shepherds Bush	18	5	0	1	2	1	0	0	1	0	0	0	0	0	8	0	0	64
Stanmore	18	2	0	2	0	4	1	0	3	0	0	1	2	0	3	0	0	<i>63</i>
Twickenham	18	1	0	0	0	7	1	0	4	0	0	1	1	1	2	0	0	<i>5</i> 8
Eastcote	18	2	0	0	1	5	1	0	1	0	0	0	0	1	8	0	5	28

$2^{nd} XI$

Division Three - Second Teams																		
			Ove	ers M	1atch	ies				7	ime	d Ma	tches	5				
	Games	Won	Tied		Lost		NR	W	'on	Tied		Dra	awn		Lost	NR	Pen	Total
	Pld	10pt	5pt	2pt	1pt	0pt	1pt	12pt	10pt	5pt	5pt	4pt	2pt	1pt	0pt	1pt	Pts	Pts
Southgate	18	7	0	1	0	0	1	2	6	0	0	0	0	0	1	0	0	<i>157</i>
Osterley	18	7	0	1	0	1	0	0	4	0	2	1	0	0	1	1	0	<i>127</i>
MTSSC	18	3	0	2	0	4	0	4	3	0	0	0	0	0	1	1	0	<i>113</i>
Winchmore Hill	18	4	0	2	1	2	0	0	5	0	0	0	1	0	2	1	0	98
Bessborough	18	5	0	0	2	2	0	1	2	0	0	1	1	0	2	2	0	92
Harrow St	18	5	0	1	0	3	0	1	2	0	0	0	1	0	5	0	0	86
Wycombe House	18	4	0	0	1	3	1	1	1	0	1	0	1	0	5	0	0	71
Kenton	18	3	0	3	2	0	1	0	2	0	0	0	1	0	4	2	0	<i>63</i>
Harrow	18	4	0	0	1	3	1	0	0	0	0	0	0	0	8	1	0	43
Ickenham	18	1	0	0	1	7	0	0	1	0	0	1	0	1	6	0	0	26

2016 1st XI League Averages

BATTING	(* = not out) Mchs Inns N/O Runs Average H'st v Opposition 100/50s Ct St												
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50	s Ct	St			
M. O. Stevens	14	14	1	464	35.69	113*	Eastcote (a)	1/2	4	-			
T. W. Edrich	18	18	1	584	34.35	83	Stanmore (h)	-/6	13	-			
H. J. Morton	18	18	0	535	29.72	102	Teddington (a)	1/1	8	-			
A. S. Sahota	17	17	0	453	26.64	113	Shepherds Bush (h)	1/2	9	-			
P. M. Dunnett	15	15	4	202	18.36	66	Richmond (a)	-/1	14	4			
P. A. Sivarajah	16	14	6	145	18.12	34*	Eastcote (a)	-/-	1	-			
R. A. Mullahzada	14	13	3	180	18.00	54*	Ealing (h)	-/1	10	-			
R. A. Johnson	4	4	1	46	15.33	27*	Shepherds Bush (h)	-/-	1	-			
F. A. Mir	18	16	3	197	15.15	36*	Stanmore (a)	-/-	5	-			
C. T. Steel	11	11	0	161	14.63	41	Hampstead (a)	-/-	2	-			
Farhad Mullahzada	10	6	2	40	10.00	21*	Richmond (a)	-/-	1	-			
Fawad Mullahzada	7	6	1	39	7.80	13	Twickenham (h)	-/-	3	-			
A. K. Durgacharan	4	4	0	22	5.50	10	Richmond (h)	-/-	-	-			
D. J. O'Leary	1	1	0	5	5.00	5	North Middlesex (a) -/-	-	-			
L. T. Hutton	10	7	0	19	2.71	9	Shepherds Bush (a)	-/-	2	-			
M. R. Bhatt	17	8	5	7	2.33	3*	Twickenham (h)	-/-	7	-			
D. A. Woffinden	2	0	0	0	-	-	n/a	-/-	1	-			
S. R. Ellis	1	0	0	0	-	-	n/a	-/-	-	1			
B. D. Elders	1	0	0	0	_	_	n/a	-/-	-	_			

19 players.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wkt	Best	v Opposition
D. A. Woffinden	18.0	7	31	3	10.33	36.00	1.72	-	2-19	Teddington (a)
R. A. Mullahzada	114.2	18	336	22	15.27	31.18	2.93	-	4-25	Eastcote (a)
Farhad Mullahzad	da 32.0	5	128	8	16.00	24.00	4.00	-	2-11	Eastcote (a)
M. R. Bhatt	175.0	36	560	32	17.50	32.80	3.20	1	5-58	Shepherds Bush (h)
A. P. Sivarajah	121.4	17	453	23	19.69	31.73	3.72	1	7-37	Ealing (a)
H. J. Morton	139.1	22	504	23	21.91	36.30	3.62	-	3-28	Twickenham (a)
F. A. Mir	77.0	7	368	14	26.28	33.00	4.77	-	3-18	Twickenham (a)
Fawad Mullahzad	la 46.0	4	212	8	26.50	34.50	4.60	-	4-39	Eastcote (h)
B. D. Elders	10.0	1	31	1	31.00	60.00	3.10	-	1-31	Hampstead (a)
L. T. Hutton	40.2	3	178	4	44.50	60.50	4.41	-	2-27	Hampstead (a)
M. O. Stevens	2.0	0	7	0			3.50	-	0-7	Richmond (h)

2016 2nd XI League Averages

BATTING		(* = not out) Mchs Inns N/O Runs Average H'st v Opposition 100/50s Ct St												
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition 1	.00/50s	Ct	St				
D. A. Woffinden	11	7	5	179	89.50	48*	Harrow (h)	-/-	2	-				
A. Saeed	10	10	4	389	64.83	77*	Wycombe House (a)	-/3	7	-				
W. M. Khan	17	17	4	465	35.76	102	Harrow (a)	1/1	1	-				
C. Telang	11	10	1	258	28.66	55	Winchmore Hill (a)	-/2	3	-				
R. A. Johnson	9	8	0	175	25.00	51	Osterley (h)	-/1	5	-				
L. T. Hutton	5	4	0	96	24.00	45	Harrow (h)	-/-	2	-				
D. J. O'Leary	14	14	3	250	22.72	51*	Bessborough (h)	-/1	6	-				
M. P. G. Joseph	13	11	0	250	22.72	101	Kenton (a)	1/-	-	-				
S. Faruqi	16	8	2	116	22.60	40*	Harrow (a)	-/-	4	-				
S. Zulfiqar	6	5	1	85	21.25	36	MTSSC (a)	-/-	3	-				
A. K. Durgacharan	ı 8	7	0	167	20.87	47	Ickenham (h)	-/-	5	-				
S. R. Ellis	12	11	3	124	15.50	45	Winchmore Hill (a)	-/-	10	5				
A. J. Lynch	9	9	0	130	14.44	30	Kenton (a)	-/-	4	-				
R. Desai	14	6	3	31	10.33	11*	MTSSC (h)	-/-	1	-				
O. Bellwood	10	6	1	50	10.00	22	Ickenham (h)	-/-	6	2				
Amir Khan	4	2	0	8	4.00	7	Osterley (a)	-/-	2	-				
A. Quiyum	6	5	1	34	8.50	19	Osterley (a)	-/-	3	-				
B. D. Elders	12	4	2	7	3.50	4*	Winchmore Hill (a)	-/-	5	-				

Played in two matches: O. S. Ali 4, 21* (1 ct); S-R Sharma 0, 0; S. Wadham 0, 2 (1 ct);

F. Wilson 49, dnb (2 ct);

Played in one match: D. Pyzer-Knapp 0 (3 ct); P. J. Robinson 25.

24 players represented the side. There were 5 unclaimed catches.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wks	Best	v Opposition
C. Telang	101.0	33	242	27	8.96	22.44	2.39	1	6-20	Harrow St Marys (h)
O. Bellwood	3.0	0	9	1	9.00	18.00	3.00	-	1-9	Ickenham (h)
B. D. Elders	132.5	36	300	32	9.37	24.90	2.25	1	5-17	Harrow (h)
D. J. O'Leary	1.2	0	10	1	10.00	8.00	7.51	-	1-10	Ickenham (h)
A. Quiyum	45.1	6	145	14	10.35	19.35	3.21	-	3-17	MTSSC (h)
O. S. Ali	12.0	0	47	4	11.75	18.00	3.91	-	4-22	MTSSC (h)
L. T. Hutton	43.4	2	152	10	15.20	26.20	3.48	-	4-44	MTSSC (a)
S. Wadham	13.0	1	62	4	15.50	19.50	4.76	-	3-37	Kenton (a)
D. A. Woffinden	115.0	30	345	21	16.42	32.80	3.00	1	5-80	Wycombe House (a)
S. Faruqi	71.2	3	284	16	17.75	26.75	3.98	-	3-9	Kenton (a)
W. M. Khan	22.0	1	89	5	17.80	26.40	4.04	-	2-24	Osterley (h)
R. Desai	117.2	21	413	19	21.73	37.05	3.51	-	4-15	Harrow St Marys (a)
S. Zulfiqar	12.0	2	54	1	54.00	72.00	4.50	-	1-42	Kenton (h)
R. A. Johnson	26.0	0	163	3	54.33	52.00	6.26	-	1-18	Wycombe House (h)

MIDDLESEX 1987 CRICKET LEAGUE

2016

3rd XI

	Division 1									
		Played	Won 10pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost 0Pts	LCN* 0Pts	Penalty	PTS
1	Southgate 3	18	11	3		1	3			123
2	Harrow Town 3	18	10		3	1	4			104
3	Indian Gymkhana 3	18	8	3	3	1	3			96
4	Nth London 4	18	8	1	4	2	3			90
5	Winchmore Hill 3	18	5	5	3	2	3			75
6	Bessborough 3	18	5	3	1	1	8			64
7	Old Actonians 3	18	5	2	2	1	8			61
8	Enfield 3	18	5	2	1	1	8	1	-10	50
9	Twickenham 4	18	3	2	2	1	10			41
10	Perivale Phoenicians 3	18	2	1	3	1	11			28
						*LCN	Team	conce	eded	

4th XI

	Division 5									
		Played	Won 10pts	WCN* 10pts	Drawn 4pts	Drawn 1pt	Aband 1pt	Lost 0Pts	LCN* 0Pts	PT
	Hampstead 5	18	10		4		3	1		11
2	Southgate 4	18	7	1	4	2	1	3		99
3	Harrow Town 4	18	8		2	4	2	2		9
Ļ	Chiswick 4	18	7		3	2	2	4		8
5	Nth London 5	18	6		1	5	1	5		70
5	Alexandra Park 4	18	6		2		1	9		69
,	Brentham 4	18	6		1	2	1	8		6
3	Harrow St Mary's 4	18	5			4	1	7	1	5
)	Wembley 5	18	4			1	2	11		43
0	Bessborough 4	18	1		5	2		10		32

2016 3rd XI League Averages

BATTING

(* = not out)

	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50s	Ct	St
J. B. Jouning	4	3	2	169	169.00	110*	Bessborough III (h)	1/1	2	-
W. J. Dean	8	4	2	133	66.50	56	Indian Gymkhana III (a) -/1	3	-
S. Zulfiqar	11	11	2	578	64.22	113	Twickenham IV (a)	1/5	3	-
J. N. Dangerfield	8	6	4	98	49.00	41*	Indian Gymkhana III (a) -/-	2	-
H. N. Folland	11	10	2	290	36.25	107*	Bessborough III (a)	1/1	2	-
J. D. Dangerfield	15	9	3	216	36.00	67	Old Actonians III (h)	-/2	7	-
A. J. Lynch	7	6	0	176	29.33	66	Enfield III (a)	-/1	2	-
S-R. Sharma	10	8	1	185	26.42	87	Bessborough III (a)	-/2	4	-
R. Smith	7	5	1	91	22.75	49	Indian Gymkhana III (h) -/-	1	-
M. R. Hughes	8	8	1	154	22.00	42	Harrow Town III (h)	-/-	4	-
D. Pyzer-Knapp	14	8	2	112	18.66	42	Enfield III (a)	-/-	8	-
M. De Crescenzo	10	6	1	82	16.40	32	North London IV (a)	-/-	3	-
H. Thompson	6	3	0	47	15.66	25	Winchmore Hill III (h)	-/-	-	-
O. Bellwood	6	4	0	62	15.50	30	Indian Gymkhana (a)	-/-	3	-
A. J. Carr	17	7	3	61	15.25	28	Winchmore Hill III (h)	-/-	4	-
L. K. Babwah	6	5	0	62	12.40	30	North London IV (h)	-/-	4	-
M. D. Carter	4	3	1	24	12.00	19	North London IV (a)	-/-	2	-
P. Martin	3	1	0	12	12.00	12	Indian Gymkhana III (h) -/-	1	-
Ankit Patel	11	9	2	80	11.42	23	Twickenham IV (h)	-/-	6	-
R. A. Marett	7	2	0	16	8.00	15	Enfield III (a)	-/-	-	-
S. Hafeji	4	2	1	4	4.00	4*	Perivale Phoenic'ns III	(h) -/-	-	-
A. Babwah	3	2	1	3	3.00	3	Indian Gymkhana III (a) -/-	-	-
R. Desai	4	0	0	0	-	-	n/a	-/-	1	-

Played in two matches: S. M. Babwah 1; R. Bishop-Laggett 57; C. McLoughlin dnb, 11 (2ct). **Played in one match:** F. Ahmed dnb; A. K. Durgacharan 7; R. D. Gunn dnb (1 st); M. P. G. Joseph 52 (1 ct); A. Madhavan 0; B. Oduwole dnb (1 ct); A. Quiyum 0 (3 ct). 32 players represented the side. There was 1 unclaimed catch.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wks	Best	v Opposition
R. Desai	31.4	2	92	8	11.50	23.75	2.90	-	4-40	Bessborough III (h)
P. Martin	19.5	1	70	5	14.00	23.80	3.52	-	4-46	Perivale Ph'ans III (h)
S. Zulfiqar	66.4	5	277	17	16.29	23.52	4.15	1	5-56	Twickenham IV (a)
A. J. Carr	203.4	24	682	41	16.63	29.80	3.34	3	5-24	Perivale Ph'ans III (h)
M. De Crescenzo	64.0	8	204	12	17.00	32.00	3.18	-	4-26	Winchmore H III (a)
H. N. Folland	63.3	5	230	12	19.16	31.75	3.62	-	3-10	Bessborough III (h)
J. N. Dangerfield	40.4	6	136	7	19.42	34.80	3.34	-	2-4	Perivale Ph'ans III (a)
R. A. Marett	58.0	10	157	8	19.62	43.50	2.70	-	4-21	Twickenham IV (h)
L. K. Babwah	33.4	9	100	5	20.00	40.40	2.97	-	3-9	Perivale Ph'ans III (a)
H. Thompson	41.0	8	133	6	22.16	41.00	3.24	-	3-16	Perivale Ph'ans III (a)
M. D. Carter	19.0	3	73	2	36.50	57.00	3.84	-	1-28	Bessborough III (a)
A. Babwah	23.0	2	128	3	42.66	46.00	5.56	-	2-37	Old Actonians III (h)
S. Hafeji	16.0	1	75	1	75.00	96.00	4.68	-	1-53	Bessborough III (h)

Also bowled: F. Ahmed 5.0-2-10-0; S. M. Babwah 3.0-0-15-0; O. Bellwood 2.0-0-28-0; J. D. Dangerfield 8.0-0-44-0; W. J. Dean 1.0-0-13-0; A. K. Durgacharan 1.0-0-6-1; A. J. Lynch 3.0-0-29-0; A. Madhavan 8.0-2-23-1; Ankit Patel 6.0-0-38-0; A. Quiyum 10.0-2-15-1; D. K. Walters 7.0-1-30-0.

2016 4th XI League Averages

BATTING

. — 1101 0111	*	=	not	out)
---------------	---	---	-----	------

					(- 1101 0	out)			
	Mchs	Inns	N/O	Runs	Average	H'st	v Opposition	100/50s	Ct	St
L. K. Babwah	3	3	1	164	82.00	125*	Bessborough IV (a)	1/-	1	-
P. S. Dave	12	11	1	452	45.20	93	Bessborough IV (h)	-/4	7	2
R. A. Marett	8	6	3	132	44.00	50*	Bessborough IV (a)	-/-	3	-
S. Hafeji	9	8	2	182	30.33	73	Brentham IV (a)	-/1	-	-
Ankit Patel	5	5	1	117	29.25	53	Alexandra Park IV (h)	- /1	1	-
M. D. Carter	4	4	3	28	28.00	11*	North London V (a)	-/-	1	-
J. McCormick	9	9	2	190	27.14	77	Alexandra Park IV (a)	- /1	4	-
G. P. Clark	4	3	1	51	25.50	27*	Brentham IV (a)	-/-	-	-
D. Gordon	13	9	0	196	21.77	55	North London V (h)	-/1	1	-
T. Stanton	3	3	0	60	20.00	37	Wembley V (h)	-/-	-	-
C. J. McLoughlin	7	6	0	102	17.00	49	Hampstead V (a)	-/-	6	1
K. Haria	4	3	2	14	14.00	8*	Chiswick IV (a)	-/-	1	-
S. M. Babwah	12	6	2	51	13.75	28*	Harrow St Mary's IV (a) -/-	1	-
P. J. McLoughlin	6	6	1	85	12.14	29	Hampstd (h)/N. Londo	n (a) -/-	2	-
S. Syed	16	14	0	169	12.07	38	Hampstead V (h)	-/-	6	-
T. Clark	3	3	0	27	9.00	14	Wembley V (a)	-/-	2	-
R. D. Gunn	6	5	0	29	5.80	26	Brentham IV (a)	-/-	2	1
D. T. Lowen	4	4	0	23	5.75	15	Alexandra Park IV (a)	-/-	1	-
J. A. Thomson	4	3	0	12	4.00	10	Brentham IV (a)	-/-	-	-
S. R. Larner	10	8	0	31	3.87	8	Wembley V (h)	-/-	4	-
A. Babwah	8	4	2	6	3.00	4	Harrow Town IV (a)	-/-	4	-
M. Barrett	7	4	1	4	1.33	3	Brentham IV (a)	-/-	2	-
R. Kent	5	3	3	17	-	14*	North London V (h)	-/-	2	-

Played in two matches: R. Bishop-Laggett 37, 12; M. De Crescenzo dnb; H. N. Folland 55, 15; A. Jhanji 11, 16; S-R. Sharma 6, 13 (3 ct); J. Stone 1*, 0; D. K. Walters 0*, dnb.

Played in one match:; J. Cleary dnb; M. Dias 1; W. Dias 22; A. N. Dixit 3; A. A. Jain 3; Z Meyer 2; S. Parmar dnb; D. Pyzer-Knapp 21; R. Smith 0; H. Thompson 11*; H. Vipani 1. One unclaimed catch v Brentham IV (h). 41 players took part.

BOWLING

	Overs	Mdns	Runs	Wkts	Av'ge	S/R	Econ	5wks	Best	v Opposition
D. K. Walters	15.0	2	70	7	10.00	12.85	4.66	1	6-31	North London V (a)
R. Kent	76.0	14	224	19	11.78	24.00	2.94	1	8-39	Bessborough IV (h)
H. Thompson	14.0	3	24	2	12.00	42.00	1.71	-	2-14	Brentham IV (h)
R. A. Marett	68.0	17	152	11	13.81	37.09	2.23	2	6-27	Harrow Town IV (h)
A. Babwah	43.3	3	167	9	18.55	29.00	3.83	-	3-38	Bessborough IV (a)
S. M. Babwah	110.2	12	373	18	20.72	36.77	3.38	1	5-59	Chiswick IV (a)
S. Hafeji	102.1	8	412	19	21.68	32.26	4.03	1	7-66	Wembley V (h)
D. Gordon	13.0	0	69	3	23.00	26.00	5.30	-	1-0	Bessborough IV (h)
H. N. Folland	19.1	4	77	3	25.66	38.33	4.01	-	2-16	Harrow Town IV (h)
J. A. Thomson	17.0	4	58	2	29.00	51.00	3.41	-	2-9	Chiswick IV (h)
M. Barrett	23.0	0	117	4	29.25	34.50	5.08	-	2-15	Brentham IV (a)
M. D. Carter	43.0	6	220	6	36.66	43.00	5.11	-	3-76	North London V (a)
T. Clark	31.0	3	128	3	42.66	62.00	4.12	-	1-19	Wembley V (a)
L. Babwah	39.0	2	156	2	78.00	117.00	4.00	-	2-49	North London V (h)

Also bowled: P. S. Dave 1.0-0-10-0; M. Dias 7.0-4-6-0; W. Dias 3.0-0-9-0; C. J. McLoughlin 5.0-0-31-0; J. McCormick 5.0-0-40-0; Z. Meyer 3.0-0-26-0; Ankit Patel 27.0-4-86-0; T. Stanton 7.0-0-52-1; S. Syed 1.0-0-7-0.

Southgate Colts 2016

For the first time in the history of Southgate Colts, there were insufficient players this year to field an Under 11s side which rather sidestepped the problem of who would manage the side in any event. The Under 13s, however, were masterfully guided by Miles Stanton to whom, as a colts parent, the club is especially grateful.

The U13s finished 3rd out of six behind Totteridge Old Millhillians and Winchmore Hill, but were unlucky to have three games cancelled through bad weather. There were some useful performances with the bat from Harry Showell and William McLoughlin while George Hooper-Greenhill, Charlie Bates, Fred McGill and Luke Brett made steady progress. Among the bowlers Gautam Datta stood out with 11 wickets while Alex Stanton, George Hooper-Greenhill, and Fred McGill provided encouraging support.

Under 15s:

As a brief summary of the competitive season, the Under 15s didn't fare quite so well this year, failing to win any of their games which, considering the individual quality of several players came as a surprise although they shared some tight finishes. However, next year's squad looks especially strong so I am confident there will be much better news to report this time next year.

Under 15s coach Adrian Carr reports that many players impressed at times including Devin Dhanki, Shanuk Wickermaratna and Louis Valerio who showed massive promise in his first season. Tom Parsons also progressed well with his batting as well as his bowling and Sulaiman Mirza featured particularly in the field.

The Awards Supper was held in the pavilion on 30th September where an enjoyable meal was provided by the in-house caterers Pink Food Ltd.

The Club President, Mike Smethers, spoke to the assembly of colts, parents and coaches and presented the awards to the successful colts.

Under 13s.

Batting trophy: Harry Showell with 182 runs at an average of 23.25.

Bowling trophy: Gautam Datta with 11 wickets at an average of 10.18.

Endeavour/Spirit of Southgate - Callum Killeen. He didn't miss a training session, always gave 100% and, according to coach Miles Stanton, was a pleasure to coach!

Under 15s:

Batting Award: Liam Patel

Bowling Award: Alan Babwah

Endeavour/Spirit of Southgate: Omar Khan - especially for never complaining when asked to bat at 11.

We are especially grateful to Amina Mirza for organising the Awards Supper event and she can take pride and pleasure in the fact that it was an unqualified success and enjoyed by all.

Ricky Gunn

Memories of Allan Wyatt



Southgate Cricket Club is sad to report of the death of former player Allan Wyatt. Michael Smethers spoke at Allan's funeral; the following is an extract from his eulogy.

Liz has asked me to say something about Allan's sporting life. Allan loved sport – it was very much part of who he was. I shall speak mostly about his cricket, but in his younger days his primary focus was football.

During his national service in the 1950s Allan played football for Swindon Town, and afterwards was offered professional terms by Southampton and Nottingham Forest. But those were different times, and his Dad said he had to get a proper job, so he moved into top level amateur football. He was a reserve for Hendon in the 1960 Amateur Cup Final, held at Wembley in front of 60,000 people, and four years later he played in two semi-final games for Kingstonian, losing the replay in the last moments of extra time. Later in life he coached and managed strong non-league sides in North West London.

For some reason I had always assumed Allan was a resolute, no-nonsense defender, but I know now that in fact he was a skilful striker, usually on the right wing. He played for several teams in the old Isthmian League, and for his main one, Kingstonian, he scored 72 goals in 147 appearances in the 1960s, virtually one every two games. As a lifelong Arsenal supporter I am particularly impressed that Allan once scored a hat-trick against the great Bob Wilson, something the likes of Alan Gilzean or Martin Chivers could only dream of.

I first met Allan when he joined Southgate Cricket Club in North London in 1972. He played in the 1st XI until 1984, a golden period for the club, when the side was always in contention for trophies. At the peak in 1977 Southgate won the National Club Knock-out Cup, and were without doubt the best club team in the country. Allan was an integral member of the team throughout this period. He played in one final, three semi-finals and seven quarter-finals of the National Cup, won the Middlesex league twice, and the Middlesex League Cup three times.

He was 33 when he joined the club, having previously played in local, lower grade cricket. Many of his younger colleagues had tasted higher levels of the game before settling into club cricket, but Allan was the oldest and most experienced in all-round sport and life more generally. His nickname in the team was AlPal, which I think has a suitably friendly and avuncular ring to it, and you could never forget that he was the oldest of us because he had the endearing habit of addressing every one of his team mates as "young man".

Allan was an all-rounder. Before the term became widely used he was the original "bits and pieces" player. But what bits and what pieces. I doubt if opposing teams travelled to Southgate in trepidation of playing against him, but we knew how often he played a key part in matches, and that seldom a game went by without him contributing something significant. With the bat he could play attackingly or defensively as the situation demanded. In the field, by the time he joined Southgate he was no greyhound, but he was an excellent catcher close to the wicket. And his medium-paced bowling was masterly. His run-up was innocuous – it wasn't long, it wasn't fast, it wasn't aggressive, in fact it could have been a father on the beach running up to bowl to his son or daughter. But how deceptive! His action was ungainly, off the wrong foot, giving him a natural in-swing. He was very accurate, and rarely bowled a long hop or a full toss. And his deliveries seemed to leave the pitch faster than they had hit it, in modern parlance he "bowled a heavy ball". Batsmen repeatedly found themselves tucked up by the ball darting into their ribs sooner than expected, and had no room to free themselves to swing their arms. The team had marvellous bowlers, more than we needed, but Allan nearly always bowled his full quota of overs because he was so efficient.

Every good team needs queen bees and worker bees. We had our share of queen bees, some of whom are sitting here today. Allan was one of the worker bees, laying the foundations for others to star. And, to switch metaphors, he was a major part of the cement which held the team together when the stars misfired. He was a totally reliable team member, with a rock-solid temperament. In team discussions there were plenty of people with mad-cap ideas, Allan by contrast was always perceptive and constructive. He was genuinely pleased and complimentary when others did well, and sympathetic and supportive when they had off-days. In the club more widely he was held in great respect and affection, treating everyone with courtesy and patience, regardless of age, background, playing ability or status. I am told that, characteristically, Allan made a similarly strong all-round contribution when he joined New Milton Cricket Club on moving down here in the 1980s.

The Southgate team of the late 1970s was a tight-knit group, and we have kept closely in touch. In August, when Allan was very ill, two of the team who are here today took him to the Ageas Bowl for a day's county cricket, which Liz says he enjoyed hugely – even when he became so frail, and the prognosis was poor, his sporting ties gave him great pleasure, as did his company to those he had played alongside.

For Allan it is now fulltime, stumps – he has left the field. For us at Southgate it is so sad that we shall see him no more – a close link of over forty years' duration has been broken. But we are all grateful for having known him, and Liz and their family, and for having enjoyed his company on and off the field. Allan gave immensely to amateur sport throughout his life, and sport helped to create the lovely person he was. The physical link may be broken, but he will live on brightly at Southgate, at New Milton, and at other clubs he played for, in peoples' individual and collective memories.

Michael Smethers - President

18 November 2016

Career records of current and past players to end of 2016 season (where so far historically calculated ...)

Includes all Southgate C.C. League, Cup and friendly matches but not 20-over competitions. Players new to the club in 2016 may not appear yet but please see 2016 averages (pp 8-11)

Batting and Fielding

Fielding												
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St		
	(* = not out)											
O S Ali	176	142	38	2107	207*	20.26	3	5	38	0		
T J Allan	70	64	8	1744	128*	31.14	2	7	33	0		
James Allen	19	17	0	307	73	18.06	0	1	6	0		
John Allen	51	29	11	273	42	15.17	0	0	18	0		
D G Ashley	184	159	36	3493	118	28.40	3	17	82	3		
S M Babwah	44	29	13	228	26*	14.25	0	0	3	0		
L Babwah	47	41	6	546	125*	15.60	1	0	14	0		
A Babwah	20	9	5	12	4	3.00	0	0	4	0		
S Banyard	55	51	10	1189	121*	29.00	1	7	19	0		
D J Beatty	137	134	13	2513	72*	20.77	0	9	30	0		
O Bellwood	101	89	9	1352	100	16.90	1	5	42	4		
J D Berman	108	82	13	1245	71	18.04	0	5	31	0		
G K Berg	34	32	4	743	128*	26.53	1	3	14	0		
M R Bhatt	19	9	5	18	11	4.50	0	0	7	0		
M A Bhatti	56	25	7	240	28*	13.33	0	0	6	0		
R Bishop-Laggett	450	370	86	7186	107*	25.30	1	26	232	35		
G N Blackmore	394	215	86	2145	100	16.62	1	2	129	0		
C M C Blake	20	20	2	814	115	45.22	1	5	5	0		
R N Blanchflower	400	379	60	5593	77*	17.53	0	12	180	3		
P J B Bownes	118	111	7	2101	118	20.20	1	7	38	0		
M J Brown	61	60	2	2515	120	43.36	6	15	22	7		
G M Burton	544	429	133	8555	103*	28.90	1	33	125	2		
R K A Bynoe	30	26	7	559	66*	29.42	0	2	12	0		
H Cahill	85	58	20	247	44	6.50	0	0	41	21		
A J Carr	820	577	141	9142	108	20.96	3	28	232	0		
M D Carter	83	65	14	578	61	11.33	0	1	29	0		
N Chadwick	249	117	64	330	23*	6.23	0	0	37	0		
G P Clark	25	19	1	204	32	11.33	0	0	6	0		
T Clark	31	28	7	261	38*	12.42	0	0	13	0		
M T Clucas	97	77	17	919	66	15.32	0	2	20	0		
R C Crabtree	135	98	23	1114	52	14.85	0	1	29	0		
S Cradock	478	317	109	4454	90	21.41	0	11	125	0		
M L Creese	160	140	22	3547	184*	30.06	5	17	94	0		
J D Dangerfield	779	664	131	12763	133	23.95	9	52	282	5		
J N Dangerfield	41	31	8	261	41*	11.35	0	0	15	0		
P S Dave	101	97	11	2364	100*	27.49	1	18	30	3		
A C Davis	327	241	71	3424	118	20.14	1	6	238	68		
R Dawson-Goode	y 22	21	3	600	80	33.33	0	2	4	0		
									C_{ℓ}	mtimuo		

	Matakas	T	N/Oa	D	III ah aat	A 21020 000	100-	50s	Fie Ct	lding
	Matches	_		Runs	_	Average	100s			St
W J Dean	599	546	67	13973	141*	29.17	12	74	234	0
M De Crescenzo	120	108	11	1684	108	17.36	1	6	27	0
G P Delf	122	113	14	1988	136*	20.08	2	9	33	0
R Desai	100	54	26	305	51	10.89	0	1	8	0
R Devarakonda	42	37	6	454	39	14.65	0	0	7	0
A Devkamalth	26	24	4	484	67	24.20	0	2	2	0
B Dharmarajah	89	63	18	729	37	16.20	0	0	18	0
M Dias	27	19	1	68	11	3.78	0	0	12	0
W Dias	55	44	8	330	31	9.17	0	0	20	0
A N Dixit	16	15	0	123	31	8.20	0	0	0	0
H M Dowsett	532	487	57	9105	114*	21.17	2	35	114	0
M T Dunn	560	501	81	11783	136*	28.05	6	61	229	0
P M Dunnett	264	222	52	3860	114*	22.71	3	16	162	87
A K Durgacharan	637	579	59	13717	129	26.55	11	67	200	0
T W Edrich	183	175	14	5418	131	33.65	7	36	82	0
B D Elders	25	9	6	49	18*	16.33	0	0	6	0
S R Ellis	73	65	9	1206	77	21.54	0	5	49	36
S Faruqi	215	152	38	1657	62	14.54	0	1	540	0
M D Feeney	164	145	14	2969	153*	22.66	3	14	56	2
A L Fleming	21	19	2	729	162*	42.88	2	4	1	0
S Flook	476	261	87	2827	101*	16.25	1	7	133	0
N G Folland	92	91	13	2720	108	34.87	4	15	48	0
H N Folland	23	22	4	481	113	26.72	1	2	3	0
A D Francey	32	31	3	1010	135	36.07	1	4	13	0
S Goodley	89	51	19	346	57	10.81	0	1	40	36
D Gordon	483	442	49	8188	100*	20.83	1	34	128	0
R D Gunn	1139	1008	135	20562	150*	23.55	14	91	608	360
M E Gurr	48	43	5	1908	141*	50.21	6	10	23	0
A Habberley	136	61	15	171	21*	3.72	0	0	14	0
T H L Hadgie	142	120	22	2100	81	21.42	0	8	36	0
S Hafeji	48	40	6	550	73	16.18	0	2	6	0
K C Haria	141	123	19	2241	145*	21.54	1	8	37	2
T A Harris	167	162	22	3636	109	25.97	2	18	56	0
B R Hartman	358	311	53	6265	112*	24.28	4	28	87	0
K Hassanin	49	43	7	901	117*	25.03	1	5	9	0
A Hawthorn	366	175	79	692	34*	7.21	0	0	61	0
I W Henley	368	329	34	5049	77	17.11	0	9	65	0
R M Hewit	74	35	14	94	9*	4.48	0	0	0	0
R F Hill	82	65	22	582	44*	13.53	0	0	17	0
J E Hobbs	159	108	40	1209	104	17.78	1	3	62	0
P M G Honnor	187	170	24	4111	124*	28.16	4	25	28	0
D C J Howell	378	226	52	1719	68*	9.88	0	1	94	0
D J Hudson	63	60	10	1938	134	38.76	7	5	15	0
M R Hughes	117	112	11	1972	102*	19.52	2	8	36	0
S C Hughes	47	45	4	1557	130	37.98	5	6	7	0
D Huntingford	25	18	6	100	17*	8.33	0	0	7	0
L T Hutton	42	35	5	406	48	13.53	0	0	15	0
A A Jain	42 47	43	1	754	46 64	13.33	0	5	21	0
A A Jalli	4/	43	1	134	04	17.73	U	J	21 C	, ·

G A Jardine John Matches Junings N/os Rightet Acreage 100 \$ 16 G A Jardine 304 288 29 6559 134* 25.23 5 26 6 A R Jenner 1095 1029 164 25820 132** 29.25 121 19 86 0 M P G Joseph 93 88 8 2266 103** 28.33 2 11 28 0 J B Jouning 696 669 73 17412 138** 29.21 14 101 22 0 S Kalagara 86 664 17 981 60** 20.87 0 4 20 0 V Katyal 49 43 852 56 14.91 0 14 0 A Kennedy 174 133 30 258 25.1 25.1 1 1 1 0 W W L Lakshan 20 20 18 <t< th=""><th></th><th>Matakas</th><th>T</th><th>N/Oa</th><th>D</th><th>III ah aat</th><th>A 21020 000</th><th>100~</th><th>50~</th><th></th><th>ding</th></t<>		Matakas	T	N/Oa	D	III ah aat	A 21020 000	100~	50 ~		ding
AR Jenner 1095 1029 164 25820 132** 29.85 23 142 409 4 R A Johnson 276 227 37 3906 162** 20.55 1 19 86 0 M P G Joseph 93 88 8 2266 103** 28.33 2 1 1 28 0 J B Jouning 606 669 73 17412 138** 29.21 14 101 278 20 S Kalagara 86 64 17 981 60** 20.87 0 4 20 0 V Katyal 49 43 8 522 56 14.91 0 1 4 0 0 VA 10 0 0 1 4 0 0 0 1 4 0 0 0 1 4 0 0 0 1 4 0 0 0 1 4 0<			O			_	_				
R A Johnson 276 227 37 3906 162* 20.55 1 19 86 0 M P G Joseph 93 88 8 2266 1003* 28.33 2 11 28 0 A M Jouning 262 229 52 3763 70* 21.26 0 10 123 0 J B Jouning 696 669 73 17412 138* 29.21 14 101 278 20 S Kalagara 86 64 17 981 60* 20.87 0 4 20 0 A Kennedy 34 32 5 641 74 23.74 0 3 14 0 M P B Kennedy 174 133 30 2589 125 25.13 1 12 108 46 W M Khan 20 20 4 632 102* 25.51 3 1 4 2 0											
M P G Joseph 93											
A M Jouning											
J B Jouning 696 669 73 17412 138* 29.21 14 101 278 20 S Kalagara 86 64 17 981 60* 20.87 0 4 20 0 A Kennedy 34 32 5 641 74 23.74 0 3 14 0 M P B Kennedy 174 133 30 2589 125 25.13 1 12 108 46 R Kent 16 10 5 83 34* 16.60 0 4 0 W M Khan 20 20 4 632 102* 39.50 1 4 2 0 W M KLakshan 27 27 0 872 71 32.29 1 3 9 0 0 11 0 0 0 11 0 2 1 10 3 11 0 2 2 1 10 </td <td>•</td> <td></td>	•										
S Kalagara 86 64 17 981 60* 20.87 0 4 20 0 V Katyal 49 43 8 522 56 14.91 0 1 4 0 A Kennedy 34 32 5 641 74 23.74 0 3 14 0 M P B Kennedy 174 133 30 2589 125 25.13 1 12 108 46 R Kent 16 10 5 83 34* 16.60 0 0 4 0 W W L Lakshan 27 27 0 872 71 32.99 0 0 11 0 S Larner 20 18 2 152 30 9.50 0 0 11 0 C Le Roux 21 17 0 370 55 21.76 0 3 11 0 R Loganathan 55	•										
V Katyal 49 43 8 522 56 14.91 0 1 4 0 A Kennedy 34 32 5 641 74 23.74 0 3 144 0 M P B Kennedy 174 133 30 2589 125 25.13 1 12 108 46 R Kent 16 10 5 83 34* 16.60 0 0 4 0 W M Khan 20 20 4 632 102* 39.50 1 4 2 0 S R Larner 20 18 2 152 30 9.50 0 0 11 0 P K Lassman 191 141 38 1601 75* 15.54 0 3 11 0 C Le Roux 21 17 0 370 55 21.76 0 3 111 0 T Lucas 188	•										
A Kennedy 34 32 5 641 74 23.74 0 3 14 0 M P B Kennedy 174 133 30 2589 125 25.13 1 12 108 46 K Kent 16 10 5 83 34* 16.60 0 0 4 0 W M K Lakshan 27 27 0 872 71 32.29 1 3 9 0 S R Larner 20 18 2 152 30 9.50 0 0 111 0 P K Lassman 191 141 38 1601 75* 15.54 0 3 111 0 C Le Roux 21 17 0 370 55 21.76 0 3 111 0 T J Lucas 188 105 38 989 87 14.76 0 3 111 0 T J Lucas 188	•										
M P B Kennedy 174 133 30 2589 125 25.13 1 12 108 46 R Kent 16 10 5 83 34* 16.60 0 0 4 0 W M Khan 20 20 4 632 102* 39.50 1 4 2 0 W W L Lakshan 27 27 0 872 71 32.29 1 3 9 0 S R Larner 20 18 2 152 30 9.50 0 0 11 0 C Le Roux 21 17 0 370 55 21.76 0 3 11 0 R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 T J Lucas 188 105 38 989 87 14.76 0 3 131 0 A Lynch 53	· · · · · · · · · · · · · · · · · · ·										
R Kent 16	•										
W M K Han 20 20 4 632 102* 39.50 1 4 2 0 W W L Lakshan 27 27 0 872 71 32.29 1 3 9 0 S R Lamer 20 18 2 152 30 9.50 0 0 11 0 P K Lassman 191 141 38 1601 75* 15.54 0 3 77 0 C Le Roux 21 17 0 370 55 21.76 0 3 11 0 R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 A Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R J Marshall 258	•							_			
W W W L Lakshan 27 27 0 872 71 32.29 1 3 9 0 S R Larmer 20 18 2 152 30 9.50 0 0 11 0 S R Lassman 191 141 38 1601 75* 15.54 0 3 77 0 C Le Roux 21 17 0 370 55 21.76 0 3 111 0 R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 T J Lucas 188 105 38 989 87 14.76 0 3 131 69 A. Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A. Lynch 54 53 4 1239 96* 25.28 0 7 18 1 A. Marlath											
S R Larner 20 18 2 152 30 9.50 0 0 11 0 P K Lassman 191 141 38 1601 75* 15.54 0 3 77 0 C Le Roux 21 17 0 370 55 21.76 0 3 11 0 R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 A Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154<											
P K Lassman 191 141 38 1601 75* 15.54 0 3 77 0 C Le Roux 21 17 0 370 55 21.76 0 3 11 0 R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 A. Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A. Madhavan 10 9 2 28 17 4.66 0 0 2 0 R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern											
C Le Roux 21 17 0 370 55 21.76 0 3 11 0 R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 T J Lucas 188 105 38 989 87 14.76 0 3 131 69 A. Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>											
R Loganathan 55 53 6 1317 102* 28.02 1 10 13 0 T J Lucas 188 105 38 989 87 14.76 0 3 131 69 A. Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 259 103* 20.97 1 10 40 0 J P McGuinness								_			
T J Lucas 188 105 38 989 87 14.76 0 3 131 69 A. Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 N R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 112 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 64 42 9 505 48* 15.30 0 1 220 0 D N A Mullahzada 64 42 9 505 48* 15.30 0 1 220 0 D N A Mullahzada 64 42 9 505 48* 15.30 0 1 222 0 D N A Mullahzada 64 42 9 505 48* 15.30 0 1 222 0 D N A Mullahzada 64 42 9 505 48* 15.30 0 1 222 0 D N A Mullahzada 64 42 9 505 48* 15.30 0 1 222 0 D N A Mullahzada 64 42 9 505 48* 15.30 0 1 222 0 D N C N S D N S N S N S N S N S N S N S N S N											
A. Lynch 54 53 4 1239 96* 25.28 0 7 18 0 A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 F A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 F A Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 F A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 1629 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 1 15 0	•										
A Madhavan 10 9 2 28 17 4.66 0 0 2 0 R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar											
R A Marett 121 77 35 1155 101* 27.50 1 3 33 0 R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Mill	•										
R J Marshall 258 248 19 5710 121 24.93 8 25 43 0 N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mi											
N M Mazhar 53 39 8 300 49 9.67 0 0 18 1 C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitche								_			
C S McEachern 154 136 13 2579 103* 20.97 1 10 40 0 S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Mo											
S J P McGuinness 130 103 25 1447 70 18.55 0 7 42 1 C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton<											
C McLoughlin 38 33 4 473 41 16.31 0 0 17 7 P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley								_			
P J McLoughlin 29 29 3 526 70 20.23 0 3 10 0 B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada <td></td>											
B K G Mendis 29 27 3 985 171 41.04 2 6 12 7 M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada </td <td>~</td> <td></td>	~										
M Millar 126 106 16 1534 80* 17.04 0 5 32 0 F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullah	•							-			
F A Mir 316 258 46 4166 130* 19.65 2 16 64 0 K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawa											
K G B Mitchell 125 60 19 245 36 5.98 0 0 22 0 P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt								-			
P A Moran 163 143 26 1741 89* 14.88 0 7 47 13 H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole											
H J Morton 28 28 0 997 141 35.60 2 3 11 - J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary <td< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>											
J Mosley 60 55 10 1207 118* 26.82 1 7 10 0 Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel <t< td=""><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td>13</td></t<>											13
Farhad Mullahzada 32 21 5 257 43 16.06 0 0 5 0 Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 5								2			
Fawad Mullahzada 120 97 10 1681 109* 19.32 1 5 28 0 R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks <td< td=""><td>•</td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td><td></td></td<>	•										
R A Mullahzada 64 42 9 505 48* 15.30 0 1 22 0 A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0								0			
A Munawar 23 12 4 79 33 9.88 0 0 4 0 D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0									5		0
D E Nesbitt 67 64 6 1533 101 26.43 2 7 7 0 B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0 <td></td>											
B Oduwole 38 35 2 416 89 12.61 0 1 6 0 D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0		23		4	79	33	9.88	0			0
D O'Leary 20 19 5 562 130* 40.14 1 4 9 0 Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	D E Nesbitt		64		1533		26.43	2	7	7	0
Ankit Patel 34 34 4 629 65 20.96 0 2 18 0 C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	B Oduwole	38	35	2	416	89	12.61	0	1	6	0
C J Payne 507 483 95 16209 146 41.78 26 95 281 1 J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	D O'Leary	20	19	5	562	130*	40.14	1	4	9	0
J R Perks 38 27 7 483 80 24.15 0 3 8 1 A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	Ankit Patel	34	34	4	629	65	20.96	0		18	0
A Popat 52 50 7 859 65 19.97 0 3 25 0 D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	C J Payne	507	483	95	16209	146	41.78	26	95	281	1
D W Pyzer-Knapp 73 62 9 1069 81* 20.17 0 5 28 13 F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	J R Perks	38	27	7	483	80	24.15	0	3	8	1
F A Quiyum 61 52 8 632 65 14.36 0 1 15 0	A Popat	52	50	7	859	65	19.97	0	3	25	0
	D W Pyzer-Knapp	73	62	9	1069	81*	20.17	0	5	28	13
P J Robinson 130 122 19 3092 127* 30.02 2 18 54 0	F A Quiyum	61	52	8	632	65	14.36	0	1	15	0
	P J Robinson	130	122	19	3092	127*	30.02	2	18	54	0

	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Fiel Ct	ding St
A G H Rolt	384	249	49	1969	76	9.85	0	2	60	0
G S Rowe	1184	1115	136	30873	163*	31.54	33	182	450	1
A Saeed	67	64	15	1805	110*	36.84	2	12	25	0
I C Salter	44	40	8	799	76*	24.97	0	5	10	0
J T Sambrook	79	73	4	1445	80	20.94	0	7	17	0
C Saville	602	386	143	4002	72*	16.47	0	4	157	0
D P Seccull	91	87	15	3817	152*	53.01	10	22	43	0
K Setia	42	38	4	759	88	22.32	0	5	16	0
Arvind Shah	33	23	10	126	27	8.15	0	0	4	0
S-R Sharma	119	112	8	2113	143	20.32	3	7	45	1
T Siddiqui	44	24	7	142	40	8.35	0	0	8	0
C A Silva	46	28	3	92	17	3.68	0	0	5	0
R Silva	24	17	3	183	47	13.07	0	0	5	0
M D J Singleton	68	41	15	398	39	15.30	0	0	49	34
A P Sivarajah	143	93	35	630	87	10.86	0	2	34	0
T Sivarajah	149	73	25	410	65	8.54	0	1	19	0
W N Slack	30	30	3	1288	128	47.70	2	10	20	0
M R N Slater	201	199	16	5922	109*	32.36	4	34	97	0
A V Spencer	245	243	26	7324	125*	33.75	11	39	69	0
M T Stafford	133	113	16	2664	105	27.46	2	14	46	0
C T Steel	11	113	0	161	41	14.63	0	0	2	0
M O Stevens	229	207	25	5174	111	28.42	4	31	94	4
C P Stevenson	66	65	8	2128	110*	37.33	3	11	36	0
L J W Stokes	465	380	93	7738	134*	26.96	9	30	104	2
M L Stratten	69	66	5	1504	67	24.66	0	13	23	0
N Sugumaran	55	30	13	139	19	8.18	0	0	8	0
B L Sutton	54	53	7	2071	172*	45.02	5	13	23	2
S Syed	71	66	3	975	48	15.47	0	0	17	0
C Telang	12	11	1	260	55	26.00	0	2	3	0
W S J Temple	49	36	10	273	31	10.50	0	0	16	9
H Thompson	32	24	5	188	25	9.89	0	0	5	0
J A Thomson	66	54	13	756	102	18.44	1	2	22	0
J C Thorpe	163	88	33	1068	101*	19.42	2	2	32	0
N J Tohill	150	138	15	3410	132	27.73	3	15	48	3
S J Tohill	50	47	3	1690	146	38.41	2	10	20	0
P C R Tufnell	95	42	16	344	36*	13.23	0	0	23	0
M van Rhoon	106	104	9	3773	140	39.72	5	21	51	2
A J Vinson	159	134	23	2259	104	20.35	2	7	19	1
B F Vinson	40	26	7	238	45*	12.53	0	0	5	0
S Wadham	39	27	6	163	24	7.76	0	0	7	0
C A Waller	403	391	29	10323	111	28.52	7	46	130	2
D K Walters	192	101	32	237	24	3.43	ó	0	11	0
G A Wates	23	22	3	796	130	41.89	2	4	8	0
J R Watkins	34	28	4	565	103	23.54	1	2	11	0
F W P Webb	73	69	4	303 1471	76	22.63	0	8	18	0
W Wilkins	151	43	24	220	76 74	11.57	0	1	21	0
P I W Wilmshurst		73	24 17	521	36	9.30	0	0	26	0
J G Wilson	96	91	10	2154	107	26.10	3	6	10	0
J O WIISOII	90	71	10	4134	107	20.10	3	U	10	U

									Field	ding
	Matches	Innings	N/Os	Runs	Highest	Average	100s	50s	Ct	St
G N Wingrove	207	117	41	815	55	10.72	0	1	60	0
M Wloch	80	74	10	1502	115	23.46	3	3	30	2
D A Woffinden	299	239	55	5482	104*	29.79	2	31	84	0
K Yeh	40	38	2	522	81*	14.50	0	3	7	0
T J Yeomans	94	88	13	1820	113	24.26	1	12	18	0
S Zulfiqar	40	37	4	1252	113	37.93	2	7	9	0

Bowling

	Overs	Mdns	Runs	Wkts	Average	Best			Economy
							,		(Runs/ov)
O S Ali	1163.0	113	5543	191	29.02	7-17	6	36.53	4.77
John Allen	388.4	41	1531	65	23.55	4-38	0	35.87	3.93
D G Ashley	235.0	32	965	40	24.13	6-11	1	35.25	4.11
A Babwah	109.3	10	489	19	25.74	4-38	0	34.57	4.46
L Babwah	270.1	34	1105	44	25.11	5-41	1	36.84	4.09
S M Babwah	352.3	49	1237	63	19.63	6-40	2	33.57	3.50
S Banyard	213.0	33	759	20	37.95	3-30	0	63.90	3.56
O Bellwood	66.0	3	338	8	42.25	3-8	0	49.50	5.12
G K Berg	323.0	60	1043	55	18.96	6-50	2	35.23	3.22
J D Berman	483.0	58	2128	68	31.29	3-34	0	42.62	4.40
M R Bhatt	191.0	38	659	36	18.30	5-58	1	31.83	3.45
M A Bhatti	621.3	124	1994	99	20.14	7-62	4	37.63	3.21
R Bishop-Laggett	142.0	14	614	23	26.70	3-24	0	37.04	4.32
G N Blackmore	3462.0	742	11506	613	18.77	6-11	14	33.88	3.32
R N Blanchflower	86.0	13	333	10	33.30	3-22	0	51.60	3.87
G M Burton	1914.5	181	8137	344	23.65	5-26	4	33.39	4.24
R K A Bynoe	264.3	58	780	41	19.02	4-5	0	38.68	2.95
A J Carr	7162.2	1335	23539	1191	19.76	8-16	46	36.08	3.28
M D Carter	561.1	83	2197	113	19.44	7-52	4	29.79	3.91
N Chadwick	2108.3	371	7651	283	27.04	8-30	13	44.69	3.62
T Clark	125.5	7	693	20	34.65	3-7	0	37.75	5.50
M T Clucas	402.1	34	1701	62	27.44	4-5	0	38.91	4.23
R C Crabtree	842.5	162	3196	110	29.05	5-37	1	45.95	3.79
S Cradock	4399.2	949	14006	600	23.34	7-41	12	43.99	3.18
M L Creese	1562.3	278	5632	278	20.26	9-65	19	33.72	3.60
J D Dangerfield	3860.2	705	12873	628	20.50	7-23	15	36.88	3.31
J N Dangerfield	246.2	27	1032	44	23.45	4-20	0	33.59	4.18
M De Crescenzo	370.5	27	1887	75	25.16	5-65	1	29.66	5.08
R Devarakonda	65.5	4	389	14	27.79	3-8	0	28.21	5.90
B Dharmarajah	534.4	80	2023	71	28.49	4-46	0	45.18	3.78
P S Dave	71.1	4	453	21	21.10	4-38	0	20.33	6.36
W J Dean	2932.1	320	12010	474	25.31	6-40	7	37.11	4.09
R Desai	984.1	158	3460	189	18.30	6-40	6	31.24	3.51
M Dias	117.0	11	561	16	35.06	3-48	0	43.88	4.79
W Dias	154.5	8	785	18	43.61	3-46	0	51.61	5.06
M T Dunn	3817.5	900	11679	650	17.97	8-32	20	35.24	3.06
P M Dunnett	230.1	26	1043	29	35.97	4-39	0	47.62	4.57
1 W Dumiett	230.1	20	1073	2)	55.71	T 37	U	77.02	Continued

	Overs	Mdns	Runs	Wkts	∆ verage	Rest	5wkts	s S/Rate	Fconomy
	Overs	Mulis	Kulis	VVKLS	Average	Dest			(Runs/ov)
A K Durgacharan	2764.2	365	10959	482	22.74	8-60	22	34.41	3.96
T W Edrich	177.3	13	994	26	38.23	2-10	0	40.96	5.60
S Faruqi	1417.5	144	6310	245	26.760	7-35	5	34.72	4.45
M D Feeney	367.2	28	1883	76	24.78	5-38	0	28.99	5.13
A L Fleming	269.1	43	917	31	29.58	7-43	1	52.09	3.40
S Flook	3663.1	719	12809	469	27.31	6-27	8	46.86	3.49
R Freckleton	142.3	20	567	28	20.25	5-33	2	30.53	3.97
D Gordon	457.3	52	2124	100	21.24	8-25	1	27.45	4.57
R D Gunn	47.3	8	140	6	23.33	2-1	0	47.50	2.94
M E Gurr	39.4	8	149	4	37.25	2-10	0	59.50	3.75
A Habberley	922.1	105	3735	129	28.95	6-42	3	42.89	4.05
T H L Hadgie	901.5	157	3270	130	25.15	7-16	3	41.60	3.62
R J Hailey	3695.4	1174	9710	712	13.64	8-25	46	31.14	2.62
K C Haria	12.2	0	97	4	24.25	2-11	0	18.50	7.86
T A Harris	164.1	19	756	33	22.91	6-48	1	29.84	4.61
B R Hartman	1265.1	193	4889	192	25.46	8-33	4	39.53	3.86
K Hassanin	172.2	8	830	32	25.93	4-10	0	32.29	4.82
A Hawthorn	2851.0	531	10095	380	26.57	7-12	7	45.02	3.54
R M Hewit	548.4	74	2205	69	31.96	4-77	0	43.02 47.69	4.02
R F Hill	534.1	84	1997	65	30.72	4-42	0	49.30	3.74
J E Hobbs	1240.1	174	4639	200	23.20	6-102		37.20	3.74
P M G Honnor	290.0	47	1123	42	26.74	4-18	0	41.42	3.87
D C J Howell	1603.1	194	6823	197	34.63	7-27	2	48.83	4.26
M R Hughes	31.0	1	215	10	21.50	3-22	0	18.60	6.94
D Huntingford	123.3	12	562	24	23.42	3-45	0	30.87	4.55
L T Hutton	237.4	14	1145	44	26.02	4-25	0	32.40	4.81
A R Jenner	1737.4	158	8065	438	18.41	7-34	18	23.80	4.64
R A Johnson	1636.0	158	7592	271	28.01	5-30	2	36.22	4.64
A M Jouning	1079.3	166	4145	211	19.64	7-64	5	30.69	3.83
S Kalagara	611.2	92	2372	96	24.71	5-36	3	38.20	3.88
V Katyal	89.1	8	480	15	32.00	3-31	0	35.64	5.39
R Kent	157.0	28	502	28	17.93	8-39	1	33.64	3.19
W M Khan	26.0	3	92	6	15.33	3-24	0	26.00	3.54
W W W L Lakshan	267.4	42	914	62	14.74	6-18	2	25.90	3.41
P K Lassman	585.1	44	3346	102	32.80	5-35	2	34.42	5.72
C Le Roux	174.0	21	685	22	34.13	3-9	0	47.45	3.93
R Loganathan	124.2	7	549	27	20.33	5-13	1	27.60	4.42
A Lynch	17.0	1	120	3	40.00	1-12	0	34.00	7.05
R A Marett	1277.5	226	4108	203	20.23	8-41	7	37.76	3.21
N M Mazhar	205.2	13	1135	41	27.68	5-59	2	30.03	5.53
C S McEachern	720.3	73	2924	127	23.02	7-31	3	34.03	4.06
S J P McGuinness	465.5	50	2098	64	32.78	3-34	0	43.64	4.50
B K G Mendis	52.0	2	272	9	30.22	3-40	0	34.40	5.27
M Millar	195.0	11	1013	36	28.14	3-15	0	32.50	5.19
F A Mir	2137.2	252	9202	363	25.35	7-16	9	35.32	4.30
K G B Mitchell	1459.5	269	5518	246	22.43	7-76	9	35.60	3.77
P A Moran	237.2	16	1175	35	33.57	4-31	0	40.66	4.95
H J Morton	191.0	27	759	31	24.48	3-28	0	36.96	3.97
Fawad Mullahzada	878.2	119	3630	162	24.48	3-28 8-20	3	30.90	4.13
r awau munanzada	0/0.2	117	2020	102	∠∠ . 40	0-20	3	54.33	
									Continued.

	Overs	Mdns	Runs	Wkts	Average	Best		S S/Rate	Economy (Runs/ov)
R A Mullahzada	463.5	79	1639	94	17.43	5-3	4	(Balls/WKt) 29.60	3.53
Farhad Mullahzada	188.3	19	793	33	24.03	3-33	0	34.27	4.20
A Munawar	201.0	35	651	29	22.44	4-38	0	41.59	3.23
B Oduwole	65.0	6	330	16	20.63	7-45	2	24.38	5.08
A Patel	123.0	16	507	13	39.00	4-39	0	56.77	4.12
J R Perks	435.3	69	1450	78	18.59	5-46	1	33.48	3.33
A Popat	143.3	17	628	42	14.95	5-13	2	20.50	4.37
D Pyzer-Knapp	33.2	1	188	5	37.60	3-60	0	39.84	5.66
F A Quiyum	531.1	80	1996	71	28.13	5-65	1	44.88	3.75
P J Robinson	244.5	21	1176	40	29.40	6-44	1	36.68	4.81
A G H Rolt	1408.4	180	6529	257	25.40	7-37	3	32.88	4.63
G S Rowe	4996.1	936	17114	849	20.15	9-21	12	35.30	3.42
I C Salter	274.3	25	1258	39	32.26	4-30	0	42.23	4.58
C Saville	7456.4	1676	23113	1162	19.89	8-30	57	38.50	3.10
D P Seccull	47.2	7	239	4	59.75	2-19	0	71.00	5.04
K Setia	99.5	8	427	20	21.35	4-40	0	29.95	4.27
Arvind Shah	331.2	40	1460	63	23.17	7-51	5	31.50	4.41
C E Shreck	227.5	31	795	37	21.48	4-19	0	36.94	3.48
T Siddiqui	420.4	61	1684	72	23.39	4-12	0	35.05	4.00
C A Silva	256.4	27	1111	38	29.24	4-31	0	40.48	4.33
R Silva	136.3	13	627	17	36.88	2-15	0	48.17	4.59
T Sivarajah	1441.1	366	4115	192	21.43	6-62	3	45.03	2.85
A P Sivarajah	1376.0	195	5390	263	20.49	7-37	10	31.39	3.91
M T Stafford	988.0	150	3607	203 171	21.09	7-86	6	34.66	3.65
M O Stevens	666.0	76	2925	135	21.66	7-54	4	29.60	4.39
C P Stevenson	163.3	35	486	22	22.09	3-24	0	44.54	2.98
L J W Stokes	3548.0	595	13991	656	21.33	8-30	17	32.45	3.94
M L Stratten	74.2	8	392	16	24.50	3-34	0	27.83	5.28
N Sugumaran	391.1	51	1390	66	21.06	4-26	0	35.55	3.55
C Telang	109.0	34	275	28	9.82	6-20	1	23.35	2.52
H Thompson	229.0	36	800	53	15.09	5-35	1	25.92	3.49
J A Thomson	278.4	26	1245	42	29.64	4-42	0	39.77	4.47
J C Thorpe	1231.4	211	4258	201	21.18	6-21	4	36.76	3.45
N J Tohill	223.5	19	1069	33	32.39	6-44	1	40.72	4.77
P C R Tufnell	1023.2	240	3051	194	15.72	7-4	7	31.64	2.98
M van Rhoon	332.3	69	1002	49	20.44	5-22	1	40.69	3.02
A J Vinson	829.1	103	3546	137	25.88	7-60	5	36.31	4.27
B F Vinson	256.2	37	922	30	30.73	4-26	0	51.24	3.60
S Wadham	301.2	57	1067	56	19.05	5-14	1	32.28	3.54
D K Walters	684.1	69	3315	91	36.42	6-31	1	45.11	4.85
G A Wates	220.3	35	789	34	23.20	7-73	1	38.91	3.57
W Wilkins	1220.4	194	4498	171	26.30	6-59	5	42.82	3.69
P I W Wilmshurst	480.0	63	2191	88	24.90	6-23	1	32.72	4.56
J G Wilson	39.5	2	200	2	100.00	1-21	0	119.50	5.02
		186	7705	409	18.83	8-67	12	26.98	3.02 4.19
G N Wingrove M Wloch	1839.0 117.1	10	519	409 14	37.07	2-1	0	50.21	4.19
D A Woffinden	2084.4	478	7076	384	18.43	2-1 8-41	15	30.21	3.39
T J Yeomans	274.4	4/8	1117	32	34.90	5-21	13	51.45	3.39 4.07
S Zulfiqar	141.4	41 9	635	32 25	25.40	5-21 5-56	1	33.94	4.07 4.49
5 Zumqai	141.4	7	033	23	<i>23.</i> 40	5-50	1	33.74	7.77